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f,x3+x2+x-—4‘—1 | . ‘
=(A)1 B) -6 ()0 (D) -2 Hint: |a|=-a if a<0

x-1 -1

If h(x)=sin’/x , then A'(x)=(A) 2(sin+/x)(cosx)(—— f (B) Z(COSJ;)(—;—x%I)

. 1 1
©) 2(s1n«/;)(5\/—;) (D) 2cosm.

& _ dy du

Hint: Chain rule: (/o g)'(x) = f '(g(x))- g'(x) T

=]
=

if xsu—>y

Jo4+ d=(A) 7 (B) (C)"Z‘ (D) 2 Hint:(tan‘lx)‘=1+x2

If f(x,y)=x>~-y>+2x-3y—1, find the directional derivative D-f(P) atthe point

II ﬁ V2 ©) V2 (D) -+2.

P(1,1) in the direction u = ( ) (A) —— B 5
Hint: D.f(P)=Vf(x,y), eu
j:xe"xczxz(A) In2 B) e (C)1 (D) »

Hint: Integration by parts: fua’v =uv— .f vdu

The function y = f(x)=x"+ax® + bx + ¢ has neither relative maximum nor relative
minimum if and only if (A) #*~4ac>0 (B) b*-4ac<0 (C) a*-3b<0
(D) a*-3b20. Hint: f'(x)>0 forevery xeR

2

1
If X’y=1,x>0,y>0, find the minimum value of x*+4xy.(A) 3-23 (B) 2-3°

1

1
(C) 2-2° (D) 3-32 Hint: Consider the function f(x) = x* + 4 , x>0.
x

If F(x)= j:(j;expszds)dt,then F"(x)=(A) 2expx (B) expx’ (C) 2xexpx’

o d(f s
(D) Eexpx . Hmt'——dx—: f(x)

Find an equation of the tangent plane to the graph of the equation z=xy at the
point P(2,-3,-6).

(A) 2(x-2)-3(y+3)-(z+6)=0 (B) =3(x-2)+2(y+3)+(z+6)=0

C) 2(x-2)=-3(y+3)+(z+6)=0 (D) -3(x=2)+2(y+3)~-(z+6)=0

Hint: A normal vector N of the tangent plane at the point P is given by ((—Zi’gi’_ 1)' P
X

H
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Find the curvature « of the ellipse% + Zf =1 atthe point (2,0). (A)4 (B) 1

1
© 5 O2

vd

vXxda

Hint: Let x=2cost,y=sint and x="——at r=0.

|

2 2

2 .
Let S be the ellipsoide + ~)~;—'~ + % <1, then the triple integral HI dxdydz=(A) 127
N

®) 167 (C) 6z (D) 8x.
the sphere u” +v? +w’ <linto S and its Jacobian J(u,v,w)=6.
1 1

lim(m1——+——+-~-+
o p+l n+2 n+2n

Hint: The transformation x=u,y=2v,z=3wmaps

)=(A) 2In3 (B) 2In2 (C) In3 (D) In2

. m] . e
Hint: I —t~dt =lnm-Inn=1" if n ,m are positive integers.

n
Evaluate the line integral §AM
x

~—where A isthe circle x* +y* =4 oriented
+y

counterclockwise. (A) 27 (B) -2z (C) 4 (D) —4x
Hint: Letting x =2cost,y =2sint,dx = -2sintdt ,dy = 2 costdt

2 3 4 3 5 7
If [<lthen In(l+x)=(A) x-—+2 -2 4. B) x-2+2 % 4.
2 3 4 35 7
2 3 4 3 5 7
C) -4+ T4 ) a-E XX Hint: Dln(l+x)= ——
20 3 4 35 7 1+x
Which function is continuous at the origin(0,0) ?
X x°
if (x,y) #(0,0) if (x,y) #(0,0)
(A) f(x,y)=4x"+)* B) f(xy)=1x"+y*
0 if (x,y)=(0,0) 0 if (x,y) = (0,0)

©) f(r,y)=qx"+)’

0

2 if (x,y) % (0,0)

D) f(xy)=1

if (x,y)=(0,0)

sin(x? +v°) .
SNG4V it (x, ) % (0,0)
X +y

0 if (x, )= (0,0)

Hint: f(x, y) s said to be continuous at the point(x,, ,) if for every point sequence (x,,3,),
(x2,32), (x5, 13) = (X, ¥,) , we have f(x,3,), £ (%0, ,), F (X3, 13) - = (%4, 10)-

-The End-



